A “Sweet” Dichotomous Key

1a. Candyis softand malleable.... . ... ... ... ... Goto 2
1b. Candy is hard and not malleable................ .. ... Goto 3
2a. Shaped or molded intoa figure............. ... ... ... Goto4
2b. Notshaped ormolded.... ... ... .. ... Cocoa mentha

3a. Contains chocolate....... .. Goto 5
3b. Does not contain chocolate.......... ... ... Go to 6
4a. Molded into an animal shape............... . ... Goto 7
4b. Molded into a plantshape......... ... ... ... Legume aurantica
S5a. Shaped as aregularsolid.......... ... ... Cocoa arcae
5b. Shaped as a conical solid..... ... ... ... ... Cocoa osculum
G6a. Candy is translucent. ... ... .. i Goto 9
6b. Candy is opaquUe. ..o e Go to 10
7a. Animal shape is an invertebrate................ Gummis lumbricus
7b. Animal shapeisa vertebrate._.......... ... . Goto 8
8a. Animal shapeisamammal............................ Gummis ursus
8b. Animal shape is not a mammal.............. Gummis piscis rosea
9a. Contains a stick. ... .. Sacchari nummus
9b. Does not contain a stick.................. Sacchari agricola jubilum
10a. Contains QUM ... o e, Go to 11

10b. Does notcontain gum.............oiiiiiiiiiiiiiia.. Zea dextrosa
11a. Rectangularshape................ ... Chicle tabulae

11b. Spherical shape......c...ooi i i, Chicle globus
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